	
[image: image1.wmf]a

a

a

a

a

a

a

a

a

a

a

a

a

a

a

a

a

a

2

3

3

3

2

2

2

2

3

1

3

3

cos

3

cos

4

3

cos

sin

4

sin

3

3

sin

1

cos

2

sin

2

1

sin

cos

2

cos

cos

sin

2

2

sin

tg

tg

tg

tg

-

-

=

-

=

-

=

-

=

=

-

=

-

=

=



[image: image2.wmf]b

a

b

a

b

a

b

a

b

a

b

a

b

a

b

a

b

a

b

a

b

a

b

a

cos

cos

)

sin(

2

sin

2

sin

2

cos

cos

2

cos

2

cos

2

cos

cos

2

)

(

cos

2

)

(

sin

2

sin

)

(

sin

±

=

±

+

-

-

=

-

-

+

=

+

+

-

-

+

=

=

-

+

tg

tg



 EMBED Equation.3  [image: image3.wmf]b

a

b

a

b

a

b

a

b

a

b

a

b

a

b

a

b

a

a

a

tg

tg

tg

tg

tg

tg

c

m

m

m

m

1

)

(

sin

cos

cos

sin

)

sin(

sin

sin

cos

cos

)

cos(

cos

)

(sin

1

)

(

1

2

2

2

±

=

±

=

±

=

=

+



[image: image4.wmf]a

a

a

a

a

b

a

b

a

b

a

b

a

b

a

b

a

b

a

b

a

b

a

2

cos

1

2

sin

2

sin

2

cos

1

))

cos(

)

(cos(

2

1

sin

sin

))

cos(

)

(cos(

2

1

cos

cos

))

sin(

)

(sin(

2

1

cos

sin

+

=

-

=

+

-

-

=

-

+

+

=

-

+

+

=

tg



 EMBED Equation.3  [image: image5.wmf]b

a

b

a

b

a

b

a

b

a

a

b

b

a

b

a

b

a

b

a

a

a

a

cos

sin

)

cos(

...

)

sin(

sin

sin

)

sin(

sin

sin

)

sin(

cos

1

sin

2

m

=

±

-

-

=

-

=

-

+

=

+

+

=

tg

ctg

ctg

ctg

ctg

ctg

tg



[image: image6.wmf]a

a

a

a

a

a

a

a

a

a

a

2

2

2

2

2

2

2

2

1

1

cos

;

1

sin

2

1

2

1

cos

;

2

1

2

2

sin

tg

tg

tg

tg

tg

tg

tg

+

=

+

=

+

-

=

+

=



[image: image7.wmf]2

cos

sin

)

4

sin(

2

cos

sin

£

+

±

=

±

a

a

p

a

a

a



[image: image8.wmf]a

a

a

a

a

a

a

2

cos

1

2

cos

1

2

2

cos

1

cos

2

2

cos

1

sin

2

2

2

+

-

=

+

=

-

=

tg




_1038848927.unknown

_1038848976.unknown

_1013787861.unknown

_1038848710.unknown

_1038848834.unknown

_1038848674.unknown

_1003677731.unknown

_1003677899.unknown

